
Unit: :mm

SAAME TOOLS (Shaanxi) 
IMPORT & EXPORT CO.,LTD

DEXTER - PISTOL-GRIP 
DRUM AUGER

Additor

Mappist

Scale

Number

Approver

PC No. Part Name Qty Material Remarks

Page 2                                    Total 2 Pages

1

2 Washer 

Screw #1

45# carbon steel

45# carbon steel

45# carbon steel

70# carbon steel

1

1

3

Handle

1

Ring

Spring

45# carbon steel1

14

5

6

Screw #2

1

7 Storage Shell
Cover

Storage Shell
Bottom

PP+TPR

1

Screw #3 45# carbon steel M4x14

M4x16

M6x14

PP

PP

4

18

9

Matrix Code: 2021R04S01-0019 
EAN Code: 3276007366754

3

2

1

5

7

8

9

6

4


